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K- B3 S(31) - HRA - BES 0 &t ol & o
A0 27,897,870 27,533,777
= 9,313,043 9,771,183
Xl 710,840 710,840
| 138,488 117,662
S 800,000 0
s 4,519,320 4,563,591
Al 12,416,179 12,370,501
& 2t 1,8%,663 1,873,523
= 83,500 83,500
Xl 710,840 710,840
| 103,788 82,962
= 280,868 279,711
Al 717,667 716,510
a8 9@ 22l & 1,8%,663 1,873,523
= 83,500 83,500
Xl 710,840 710,840
| 103,788 82,962
= 280,868 279,711
Al 717,667 716,510
AT PHAMSE(EX) 115,320 92,180
| 103,788 82,962
= 5,766 4,609
Al 5,766 4,609
301 LEBEF 115,320 92,180
| 103,788 82,962
s 5,766 4,609
Al 5,766 4,609
14 J|EI2 43 115,320 92,180

O SIS HIALS

Z& 115,320,000 115,320 92,180
| 103,788 82,962
T 5,766 4,609
Al 5,766 4,609
& XIoHAHE 2 =H2el 3,089,531 2,139,531
S 800,000 0
= 500,000 500,000
Al 1,739,531 1,639,531
A A2 3,089,531 2,139,531
S 800,000 0
= 500,000 500,000
Al 1,739,531 1,639,531
gk ¥ IIEERE AFHUYXAE X 900,000 0
£ 800,000 0
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SA B SABH) - KIRAY - BLS o &r o) 3 o HDS2
Al 100,000 0 100,000
401 AIEHIX 20 900,000 0 900,000
=] 800,000 0 800,000
Al 100,000 0 100,000
01 AlZ8| 800,000 0 800,000
O ZEA 2=XelAlE A7 AFSXAIE
=N 800,000,000& *14] 800,000 0 800,000
= 800,000 0 800,000
02 Zeltl 100,000 0 100,000
O ZEA 2=XelAlE A7 AFEXAE
X Zell 100,000,000 * 14! 100,000 0 100,000
& AlSotY 2 x4 938,376 927,376 11,000
= 219,253 219,253 0
== 135,665 132,365 3,300
Al 583,458 575,758 7,700
Salzs e 313,840 302,840 11,000
T 63,635 60,335 3,300
Al 250,205 242,505 7,700
K-olO|& Z2HE 11,000 0 11,000
s 3,300 0 3,300
Al 7,700 0 7,700
301 EetE NS 11,000 0 11,000
= 3,300 0 3,300
Al 7,700 0 7,700
14 JIEt2 8= 11,000 0 11,000
[ 24348 M8 X9l
11,000,000 * 14} 11,000 0 11,000
== 3,300 0 3,300
Al 7,700 0 7,700
Fds U &8 =4 18,460,870 19,034,770 /573,900
= 8,850,290 9,308,430 458,140
) 34,700 34,700 0
S 3,520,557 3,569,285 N48,728
Al 6,055,323 6,122,355 A67,032
toletd ohe 18,248,850 18,822,750 /573,900
= 8,850,290 9,308,430 A458,140
= 3,510,147 3,558,875 A48, 728
Al 5,888,413 5,955,445 A67,032
HINTSHES(EX) 14,833,000 15,245,000 A412,000
= 7,217,000 7,563,000 A\346,000
LS 3,045,600 3,079,400 A33,800
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[ 3,016,800 3,050,600 133,800
Al 4,527,200 4,559,400 A32,200
02 QI X2 AL EE(0IETHE) 14,669,000 15,081,000 A412,000
O EIIsSK E5(RIE:)
Z& 14,669,000,000& 14,669,000 15,081,000 £412,000
= 7,125,000 7,471,000 346,000
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02 BIINEASEX(0IETHR) 260,000 422,500 A 162,500
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= 14,400 14,040 360
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02 RIENZAEE X (01 THR) 24,000 23,400 600
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< 2,880 2,808 72
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el 2| 187,266 208,073 120,807
QA2 (S22 40 187,266 208,073 ~20,807
101 QI24H| 187,266 208,073 ~20,807
01 8= 187,266 208,073 »20,807
O =222 187,266 208,073 £20,807
O Alztel2R+4
33 187,266,000 187,266 208,073 120,807
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DEXZ OIXtEY 2603 1 0 1
O 20249 EERDIEB(BIEIIES) SE23
TEAY 2NEXZ FHTH B
12,175,000 12,175 0 12,175
0O 20244 2EDIS(BEIISS) SE28
THEAY 208XZ 0lXerd
21,4802 2 0 22
0 20243 BESHARAANHIAKXA =8| OIA
ghe 9,370 10 10
02 Al - EHIEE=SEHEZ 9,136 9,136
0 20248 AHIXLUESAAZAIR2E 0]
INEELE= 4803 1 0 1
O 20243 AS=0le X 22| KA OIXHet
= 3203 1 0 1
0 20242 L+-3SAEEA2C|AIY Ol Xk
=1 1,150& 2 0 2
O 20245 XSS A 22| KA HE BEHAH Bt
= 84,700 85 0 85
0 20245 XIS A2l XA HE OIXeHe
861,700 862 0 862
[ 2024 A HUIHAMS0IAIY D &koK Bt
=1 791,260 792 0 792
0 20243 AHIIHPAHS AL OIX+ gt
3,570 4 0 4
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3,491,110& 3,492 0 3,492
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SHTOH ght 44,190 45 0 4
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